# Some Families of Integral, Trigonometric and Other Related Inequalities 

Rekha Srivastava

Department of Mathematics and Statistics, University of Victoria, British Columbia V8W 3R4, Canada
Email Address: rekhas@math.uvic.ca

Received Jan 24, 2011; Accepted April 21, 2011


#### Abstract

In this lecture, we propose to survey several interesting recent developments on improvements and generalizations of what is popularly known as Steffensen's integral inequality. Moreover, as a by-product of the investigation presented here, we show how one can correct an error in a recent generalization of Steffensen's inequality. We also present a brief survey of some old and new inequalities associated with trigonometric functions. These include (among other results) a weighted and exponential generalization of what is popularly known as Wilker's inequality and a substantially improved version of the Sándor-Bencze conjectured inequality. References to many related developments in recent years are also provided for the interested reader.


Keywords: Integral inequalities; Trigonometric inequalities; Trigonometric functions; Steffensen's inequality; Mercer's inequality; Huygens's inequality; Weighted generalizations.

2010 MSC: Primary 26D15; Secondary 26D05, 26D07, 26D20, 33B20.

## 1 Introduction

We begin by recalling here the well-known Steffensen's integral inequality as Theorem A below.
Theorem A. Let $f$ and $g$ be integrable functions defined on $[a, b]$ with $f$ nonincreasing. Also let

$$
\lambda=\int_{a}^{b} g(t) d t \quad(0 \leqq g(t) \leqq 1 ; t \in[a, b]) .
$$

Then

$$
\begin{equation*}
\int_{b-\lambda}^{b} f(t) d t \leqq \int_{a}^{b} f(t) g(t) d t \leqq \int_{a}^{a+\lambda} f(t) d t \tag{1}
\end{equation*}
$$

This classical inequality (1) was established by Steffensen in 1919 (see [27]). A comprehensive survey on this inequality can be found in [12]. Steffensen's inequality (1) plays
an important rôle in the study of integral inequalities. As tools, Steffensen's inequality (1) can be used for dealing with comparison between integrals over a whole set and integrals over a subset. Due to the importance of Steffensen's inequality (1), it has been given considerable attention by mathematicians and has motivated a large number of research papers on this subject (see [1], [3], [4], [5], [13], [14], [19], [20] and [23]; see also [24] and the references cited in each of these earlier works).

Mercer [11] generalized Steffensen's inequality (1) in the form asserted by Theorem B below.
Theorem B. Let $f, g$ and $h$ be integrable functions defined on $[a, b]$ with $f$ nonincreasing. Also let

$$
0 \leqq g(t) \leqq h(t) \quad(t \in[a, b])
$$

Then

$$
\begin{equation*}
\int_{b-\lambda}^{b} f(t) h(t) d t \leqq \int_{a}^{b} f(t) g(t) d t \leqq \int_{a}^{a+\lambda} f(t) h(t) d t \tag{2}
\end{equation*}
$$

where $\lambda$ is given by

$$
\int_{a}^{a+\lambda} h(t) d t=\int_{a}^{b} g(t) d t .
$$

In order to observe the fact that there is an error in Mercer's result (2), we consider

$$
f(t)=8-3 t, g(t)=t \quad \text { and } \quad h(t)=4 t \quad(t \in[0,2]) .
$$

Clearly, $f$ is nonincreasing on $[0,2]$ and

$$
0 \leqq t \leqq 4 t \quad(t \in[0,2]) \quad \text { and } \quad \int_{0}^{0+\lambda} 4 t d t=\int_{0}^{2} t d t \quad(\lambda=1)
$$

which shows that the conditions of Theorem B are fully satisfied. However, we find in this case that

$$
\begin{array}{rl}
\int_{b-\lambda}^{b} & f(t) h(t) d t-\int_{a}^{b} f(t) g(t) d t \\
& =\int_{1}^{2}(8-3 t)(4 t) d t-\int_{0}^{2}(8-3 t) t d t \\
& =12,
\end{array}
$$

which obviously contradicts the first (left-hand) inequality in (2). Consequently, the inequality (2) is not true in general.

The main object of this lecture is to establish several new generalized and sharpened versions of Steffensen's inequality (1). We shall also reconsider and present a dulycorrected version of Mercer's inequality (2).

## 2 A Useful Lemma

We begin by stating a useful integral inequality asserted by the following Lemma.
Lemma 1. Let $f, g$ and $h$ be integrable functions defined on $[a, b]$. Suppose also that $\lambda$ is $a$ real number such that

$$
\int_{a}^{a+\lambda} h(t) d t=\int_{a}^{b} g(t) d t=\int_{b-\lambda}^{b} h(t) d t
$$

Then

$$
\begin{align*}
\int_{a}^{b} f(t) g(t) d t= & \int_{a}^{a+\lambda}(f(t) h(t)-[f(t)-f(a+\lambda)][h(t)-g(t)]) d t \\
& +\int_{a+\lambda}^{b}[f(t)-f(a+\lambda)] g(t) d t \tag{3}
\end{align*}
$$

and

$$
\begin{align*}
& \int_{a}^{b} f(t) g(t) d t=\int_{a}^{b-\lambda}[f(t)-f(b-\lambda)] g(t) d t \\
& \quad+\int_{b-\lambda}^{b}(f(t) h(t)-[f(t)-f(b-\lambda)][h(t)-g(t)]) d t \tag{4}
\end{align*}
$$

Proof. The assumptions of Lemma 1 imply that

$$
a \leqq a+\lambda \leqq b \quad \text { and } \quad a \leqq b-\lambda \leqq b
$$

Firstly, we prove the validity of the integral identity (3). Indeed, by direct computation, we find that

$$
\begin{align*}
& \int_{a}^{a+\lambda}(f(t) h(t)-[f(t)-f(a+\lambda)][h(t)-g(t)]) d t-\int_{a}^{b} f(t) g(t) d t \\
& =\int_{a}^{a+\lambda}(f(t) h(t)-f(t) g(t)-[f(t)-f(a+\lambda)][h(t)-g(t)]) d t \\
& \quad+\int_{a}^{a+\lambda} f(t) g(t) d t-\int_{a}^{b} f(t) g(t) d t \\
& = \\
& =\int_{a}^{a+\lambda} f(a+\lambda)[h(t)-g(t)] d t-\int_{a+\lambda}^{b} f(t) g(t) d t  \tag{5}\\
& =f(a+\lambda)\left(\int_{a}^{a+\lambda} h(t) d t-\int_{a}^{a+\lambda} g(t) d t\right)-\int_{a+\lambda}^{b} f(t) g(t) d t .
\end{align*}
$$

Now, if we apply the following assumption of Lemma 1:

$$
\int_{a}^{a+\lambda} h(t) d t=\int_{a}^{b} g(t) d t
$$

to (5), we obtain

$$
\begin{align*}
& f(a+\lambda)\left(\int_{a}^{a+\lambda} h(t) d t-\int_{a}^{a+\lambda} g(t) d t\right)-\int_{a+\lambda}^{b} f(t) g(t) d t \\
& \quad=f(a+\lambda)\left(\int_{a}^{b} g(t) d t-\int_{a}^{a+\lambda} g(t) d t\right)-\int_{a+\lambda}^{b} f(t) g(t) d t \\
& \quad=f(a+\lambda) \int_{a+\lambda}^{b} g(t) d t-\int_{a+\lambda}^{b} f(t) g(t) d t \\
& \quad=\int_{a+\lambda}^{b}[f(a+\lambda)-f(t)] g(t) d t . \tag{6}
\end{align*}
$$

By combining the integral identities (5) and (6), we are led to the desired integral identity (3) asserted by Lemma 1.

Secondly, we observe that the following assumption of Lemma 1:

$$
\int_{b-\lambda}^{b} h(t) d t=\int_{a}^{b} g(t) d t
$$

implies that

$$
\int_{a}^{a+(b-a-\lambda)} h(t) d t=\int_{a}^{b}[h(t)-g(t)] d t .
$$

By appealing to the integral identity (3) with the following substitutions:

$$
\lambda \longmapsto b-a-\lambda \quad \text { and } \quad g(t) \longmapsto h(t)-g(t),
$$

the integral identity (4) would follow immediately.
The proof of Lemma 1 is thus completed.

## 3 The Main Integral Inequalities

In this section, we present the main integral inequalities as Theorems 1, 2 and 3 below (see also the recent works [30] and [31]).

Theorem 1. Let $f, g$ and $h$ be integrable functions defined on $[a, b]$ with $f$ nonincreasing. Also let

$$
0 \leqq g(t) \leqq h(t) \quad(t \in[a, b])
$$

Then the following integral inequalities hold true:

$$
\begin{align*}
\int_{b-\lambda}^{b} f(t) h(t) d t & \leqq \int_{b-\lambda}^{b}(f(t) h(t)-[f(t)-f(b-\lambda)][h(t)-g(t)]) d t \\
& \leqq \int_{a}^{b} f(t) g(t) d t \\
& \leqq \int_{a}^{a+\lambda}(f(t) h(t)-[f(t)-f(a+\lambda)][h(t)-g(t)]) d t \\
& \leqq \int_{a}^{a+\lambda} f(t) h(t) d t, \tag{7}
\end{align*}
$$

where $\lambda$ is given by

$$
\int_{a}^{a+\lambda} h(t) d t=\int_{a}^{b} g(t) d t=\int_{b-\lambda}^{b} h(t) d t
$$

Proof. In view of the assumptions that the function $f$ is nonincreasing on $[a, b]$ and that

$$
0 \leqq g(t) \leqq h(t) \quad(t \in[a, b])
$$

we conclude that

$$
\begin{equation*}
\int_{a}^{b-\lambda}[f(t)-f(b-\lambda)] g(t) d t \geqq 0 \tag{8}
\end{equation*}
$$

and

$$
\begin{equation*}
\int_{b-\lambda}^{b}[f(b-\lambda)-f(t)][h(t)-g(t)] d t \geqq 0 \tag{9}
\end{equation*}
$$

Using the integral identity (4) together with the integral inequalities (8) and (9), we find that

$$
\begin{align*}
\int_{b-\lambda}^{b} f(t) h(t) d t & \leqq \int_{b-\lambda}^{b}(f(t) h(t)-[f(t)-f(b-\lambda)][h(t)-g(t)]) d t \\
& \leqq \int_{a}^{b} f(t) g(t) d t \tag{10}
\end{align*}
$$

In the same way as above, we can prove that

$$
\begin{align*}
\int_{a}^{b} f(t) g(t) d t & \leqq \int_{a}^{a+\lambda}(f(t) h(t)-[f(t)-f(a+\lambda)][h(t)-g(t)]) d t \\
& \leqq \int_{a}^{a+\lambda} f(t) h(t) d t \tag{11}
\end{align*}
$$

The proof of Theorem 1 is completed by combining the integral inequalities (10) and (11).

Remark 1. The results asserted by Theorem 1 show that the Mercer's inequality (2) holds true under the following additional condition:

$$
\int_{a}^{b} g(t) d t=\int_{b-\lambda}^{b} h(t) d t
$$

Furthermore, as a direct consequence of Theorem 1, a modified version of Mercer's inequality (2) can be deduced as follows.
Corollary 1. Let $f, g$ and $h$ be integrable functions defined on $[a, b]$ with $f$ nonincreasing. Also let

$$
0 \leqq g(t) \leqq h(t) \quad(t \in[a, b])
$$

Then

$$
\begin{equation*}
\int_{b-\lambda}^{b} f(t) h(t) d t \leqq \int_{a}^{b} f(t) g(t) d t \leqq \int_{a}^{a+\lambda} f(t) h(t) d t \tag{12}
\end{equation*}
$$

where $\lambda$ is given by

$$
\int_{a}^{a+\lambda} h(t) d t=\int_{a}^{b} g(t) d t=\int_{b-\lambda}^{b} h(t) d t .
$$

In particular, upon setting $h(t) \equiv 1$ in (7), we obtain the following refinement of Steffensen's inequality (1).
Corollary 2. Let $f$ and $g$ be integrable functions defined on $[a, b]$ with $f$ nonincreasing. Also let

$$
\lambda=\int_{a}^{b} g(t) d t \quad \text { and } \quad 0 \leqq g(t) \leqq 1 \quad(t \in[a, b]) .
$$

Then

$$
\begin{align*}
\int_{b-\lambda}^{b} f(t) d t & \leqq \int_{b-\lambda}^{b}(f(t)-[f(t)-f(b-\lambda)][1-g(t)]) d t \\
& \leqq \int_{a}^{b} f(t) g(t) d t \\
& \leqq \int_{a}^{a+\lambda}(f(t)-[f(t)-f(a+\lambda)][1-g(t)]) d t \\
& \leqq \int_{a}^{a+\lambda} f(t) d t . \tag{13}
\end{align*}
$$

In Theorem 2 below, we present a new sharpened and generalized version of Mercer's inequality (2).

Theorem 2. Let $f, g, h$ and $\psi$ be integrable functions defined on $[a, b]$ with $f$ nonincreasing. Also let

$$
0 \leqq \psi(t) \leqq g(t) \leqq h(t)-\psi(t) \quad(t \in[a, b])
$$

Then

$$
\begin{array}{rl}
\int_{b-\lambda}^{b} & f(t) h(t) d t+\int_{a}^{b}|[f(t)-f(b-\lambda)] \psi(t)| d t \\
& \leqq \int_{a}^{b} f(t) g(t) d t \\
& \leqq \int_{a}^{a+\lambda} f(t) h(t) d t-\int_{a}^{b}|[f(t)-f(a+\lambda)] \psi(t)| d t \tag{14}
\end{array}
$$

where $\lambda$ is given by

$$
\int_{a}^{a+\lambda} h(t) d t=\int_{a}^{b} g(t) d t=\int_{b-\lambda}^{b} h(t) d t
$$

Proof. By the assumptions that the function $f$ is nonincreasing on $[a, b]$ and that

$$
0 \leqq \psi(t) \leqq g(t) \leqq h(t)-\psi(t) \quad(t \in[a, b])
$$

it follows that

$$
\begin{aligned}
& \int_{a}^{a+\lambda}[f(t)-f(a+\lambda)][h(t)-g(t)] d t+\int_{a+\lambda}^{b}[f(a+\lambda)-f(t)] g(t) d t \\
& =\int_{a}^{a+\lambda}|f(t)-f(a+\lambda)|[h(t)-g(t)] d t+\int_{a+\lambda}^{b}|f(a+\lambda)-f(t)| g(t) d t \\
& \geqq \int_{a}^{a+\lambda}|f(t)-f(a+\lambda)| \psi(t) d t+\int_{a+\lambda}^{b}|f(a+\lambda)-f(t)| \psi(t) d t \\
& =\int_{a}^{b}|[f(t)-f(a+\lambda)] \psi(t)| d t
\end{aligned}
$$

We thus have

$$
\begin{align*}
\int_{a}^{a+\lambda}[f(t)- & f(a+\lambda)][h(t)-g(t)] d t+\int_{a+\lambda}^{b}[f(a+\lambda)-f(t)] g(t) d t \\
& \geqq \int_{a}^{b}|[f(t)-f(a+\lambda)] \psi(t)| d t \tag{15}
\end{align*}
$$

Similarly, we find that

$$
\begin{align*}
\int_{a}^{b-\lambda}[f(t)- & f(b-\lambda)] g(t) d t+\int_{b-\lambda}^{b}[f(b-\lambda)-f(t)][h(t)-g(t)] d t \\
& \geqq \int_{a}^{b}|[f(t)-f(b-\lambda)] \psi(t)| d t \tag{16}
\end{align*}
$$

By combining the integral identities (3) and (4) and the integral inequalities (15) and (16), we arrive at the inequality (14) asserted by Theorem 2. This evidently completes the proof of Theorem 2.

Remark 2. It is obvious that the Mercer's inequality (2) in the modified form (12) follows from Theorem 2 with $\psi(t) \equiv 0$. In addition, by putting

$$
h(t) \equiv 1 \quad \text { and } \quad \psi(t) \equiv M \quad\left(M \in \mathbb{R}^{+} \cup\{0\}\right)
$$

in (14), we deduce Corollary 3 below.
Corollary 3. Let $f$ and $g$ be integrable functions defined on $[a, b]$ with $f$ nonincreasing. Also let

$$
\lambda=\int_{a}^{b} g(t) d t \quad \text { and } \quad 0 \leqq M \leqq g(t) \leqq 1-M \quad(t \in[a, b]) .
$$

Then

$$
\begin{align*}
& \int_{b-\lambda}^{b} f(t) d t+M \int_{a}^{b}|f(t)-f(b-\lambda)| d t \\
& \leqq \int_{a}^{b} f(t) g(t) d t \\
& \leqq \int_{a}^{a+\lambda} f(t) d t-M \int_{a}^{b}|f(t)-f(a+\lambda)| d t \tag{17}
\end{align*}
$$

Remark 3. Clearly, the integral inequality (17) is a sharpened and generalized version of Steffensen's inequality (1). Indeed, in its special case when $M=0$, the inequality (17) would reduce to Steffensen's inequality (1).

Finally, we give a general result on a considerably improved version of Steffensen's inequality (1) by introducing the additional parameters $\lambda_{1}$ and $\lambda_{2}$.

Theorem 3. Let $f$ and $g$ be integrable functions defined on $[a, b]$ with $f$ nonincreasing. Also let

$$
0 \leqq \lambda_{1} \leqq \int_{a}^{b} g(t) d t \leqq \lambda_{2} \leqq b-a
$$

and

$$
0 \leqq M \leqq g(t) \leqq 1-M \quad(t \in[a, b])
$$

Then

$$
\begin{align*}
& \int_{b-\lambda_{1}}^{b} f(t) d t+f(b)\left(\int_{a}^{b} g(t) d t-\lambda_{1}\right) \\
& \quad+M \int_{a}^{b}\left|f(t)-f\left(b-\int_{a}^{b} g(t) d t\right)\right| d t \\
& \leqq \int_{a}^{b} f(t) g(t) d t \\
& \leqq \int_{a}^{a+\lambda_{2}} f(t) d t-f(b)\left(\lambda_{2}-\int_{a}^{b} g(t) d t\right) \\
& \quad-M \int_{a}^{b}\left|f(t)-f\left(a+\int_{a}^{b} g(t) d t\right)\right| d t \tag{18}
\end{align*}
$$

Proof. By direct computation, we get

$$
\begin{align*}
& \int_{a}^{b} f(t) g(t) d t-\int_{a}^{a+\lambda_{2}} f(t) d t+f(b)\left(\lambda_{2}-\int_{a}^{b} g(t) d t\right) \\
& \quad=\int_{a}^{b} f(t) g(t) d t-\int_{a}^{a+\lambda_{2}} f(t) d t+\int_{a}^{a+\lambda_{2}} f(b) d t-\int_{a}^{b} f(b) g(t) d t \\
& \quad=\int_{a}^{b}[f(t)-f(b)] g(t) d t-\int_{a}^{a+\lambda_{2}}[f(t)-f(b)] d t \\
& \quad \leqq \int_{a}^{b}[f(t)-f(b)] g(t) d t-\int_{a}^{a+\int_{a}^{b} g(t) d t}[f(t)-f(b)] d t \tag{19}
\end{align*}
$$

where the last inequality follows from the assumption that

$$
a \leqq a+\int_{a}^{b} g(t) d t \leqq a+\lambda_{2} \leqq b
$$

and

$$
f(t)-f(b) \geqq 0 \quad(t \in[a, b])
$$

On the other hand, from the hypothesis of Theorem 3, we conclude that the function $f(t)-$ $f(b)$ is integrable and nonincreasing on $[a, b]$. Thus, by using Corollary 3 with the following substitution:

$$
f(t) \longmapsto f(t)-f(b)
$$

in (17), we find that

$$
\begin{align*}
\int_{a}^{b}[f(t) & -f(b)] g(t) d t-\int_{a}^{a+\int_{a}^{b} g(t) d t}[f(t)-f(b)] d t \\
& \leqq-M \int_{a}^{b}\left|f(t)-f\left(a+\int_{a}^{b} g(t) d t\right)\right| d t \tag{20}
\end{align*}
$$

By combining the integral inequalities (19) and (20), we obtain

$$
\begin{gathered}
\int_{a}^{b} f(t) g(t) d t-\int_{a}^{a+\lambda_{2}} f(t) d t+f(b)\left(\lambda_{2}-\int_{a}^{b} g(t) d t\right) \\
\leqq-M \int_{a}^{b}\left|f(t)-f\left(a+\int_{a}^{b} g(t) d t\right)\right| d t
\end{gathered}
$$

which is the second inequality in the assertion (18) of Theorem 3.
In the same way as above, we can prove that

$$
\begin{align*}
& \int_{a}^{b} f(t) g(t) d t-\int_{b-\lambda_{1}}^{b} f(t) d t-f(b)\left(\int_{a}^{b} g(t) d t-\lambda_{1}\right) \\
& \quad \geqq \int_{a}^{b}[f(t)-f(b)] g(t) d t+\int_{b-\int_{a}^{b} g(t) d t}^{b}[f(b)-f(t)] d t \\
& \quad \geqq M \int_{a}^{b}\left|f(t)-f\left(b-\int_{a}^{b} g(t) d t\right)\right| d t \tag{21}
\end{align*}
$$

which implies the first inequality in the assertion (18) of Theorem 3. This completes the proof of Theorem 3.
Remark 4. It is clear that Steffensen's inequality (1) would follow as a special case of the inequality (18) when

$$
M=0 \quad \text { and } \quad \lambda_{1}=\lambda_{2} .
$$

Moreover, it is worth noticing that the integral inequality (18) is stronger than Steffensen's inequality (1) if

$$
f(b) \geqq 0 .
$$

## 4 Trigonometric Inequalities Emerging from Wilker's Inequality

The following trigonometric inequality is known in the literature as Wilker's inequality [29]:

$$
\begin{equation*}
\left(\frac{\sin x}{x}\right)^{2}+\frac{\tan x}{x}>2 \quad\left(0<x<\frac{\pi}{2}\right) \tag{22}
\end{equation*}
$$

Wilker's inequality (22) has attracted remarkable interest of many mathematicians and has motivated a large number of research papers involving different proofs, various generalizations and improvements (see [6], [7], [8], [21], [22], [28], [29] and [35]; see also the references cited therein). Recently, the following similar inequality (proved by Huygens [10]) was considered by Sándor and Bencze [25]:

$$
\begin{equation*}
2\left(\frac{\sin x}{x}\right)+\frac{\tan x}{x}>3 \quad\left(0<x<\frac{\pi}{2}\right) \tag{23}
\end{equation*}
$$

Huygens's inequality (23) prompts us to ask a natural question: Does there exist an inequality which unifies (and possibly also extends) Wilker's inequality (22) and Huygens's inequality (23)? The following theorem gives an affirmative answer to this question (see also the recent investigations [32], [33] and [34]).
Theorem 4. Let

$$
0<x<\frac{\pi}{2}, \lambda>0, \mu>0 \quad \text { and } \quad p \leqq \frac{2 q \mu}{\lambda}
$$

Then, for

$$
q>0 \quad \text { or } \quad q \leqq \min \left\{-\frac{\lambda}{\mu},-1\right\}
$$

the following inequality holds true:

$$
\begin{equation*}
\frac{\lambda}{\mu+\lambda}\left(\frac{\sin x}{x}\right)^{p}+\frac{\mu}{\mu+\lambda}\left(\frac{\tan x}{x}\right)^{q}>1 \tag{24}
\end{equation*}
$$

## 5 A Further Set of Useful Lemmas

In order to prove Theorem 4, we need each of the following lemmas.
Lemma 2 (see [9, p. 17]). If

$$
x_{i}>0, \lambda_{i}>0 \quad(i=1, \cdots, n) \quad \text { and } \quad \sum_{i=1}^{n} \lambda_{i}=1
$$

then

$$
\begin{equation*}
\sum_{i=1}^{n} \lambda_{i} x_{i} \geqq \prod_{i=1}^{n} x_{i}^{\lambda_{i}} \tag{25}
\end{equation*}
$$

Lemma 3 (see [14, p. 238]). The following two-sided trigonometric inequality holds true:

$$
\begin{equation*}
\cos x<\left(\frac{\sin x}{x}\right)^{3}<1 \quad\left(0<x<\frac{\pi}{2}\right) \tag{26}
\end{equation*}
$$

Lemma 4. The following trigonometric inequality holds true:

$$
\begin{equation*}
\left(\frac{x}{\sin x}\right)^{2}+\frac{x}{\tan x}>2 \quad\left(0<x<\frac{\pi}{2}\right) . \tag{27}
\end{equation*}
$$

Proof. Define a function

$$
f:\left(0, \frac{\pi}{2}\right) \longrightarrow \mathbb{R}
$$

by

$$
f(x)=\left(\frac{x}{\sin x}\right)^{2}+\frac{x}{\tan x} .
$$

Then, upon differentiating $f(x)$ with respect to $x$, we get

$$
f^{\prime}(x)=\frac{1}{\sin ^{3} x}\left(\sin ^{2} x \cos x-2 x^{2} \cos x+x \sin x\right)
$$

Next, by applying Lemma 3 followed by a simple calculation, we find that

$$
\begin{aligned}
& f^{\prime}(x)=\frac{x^{2}}{\sin ^{3} x} {\left[\cos x\left(\left(\frac{\sin x}{x}\right)^{2}-2\right)+\frac{\sin x}{x}\right] } \\
&=\frac{x^{2}}{\sin ^{3} x}\left[\left(\cos x-\left(\frac{\sin x}{x}\right)^{3}\right)\left(\left(\frac{\sin x}{x}\right)^{2}-2\right)\right. \\
&\left.\quad+\left(\frac{\sin x}{x}\right)^{3}\left(\left(\frac{\sin x}{x}\right)^{2}-2\right)+\frac{\sin x}{x}\right] \\
&=\frac{x^{2}}{\sin ^{3} x}\left[\left(\cos x-\left(\frac{\sin x}{x}\right)^{3}\right)\left(\left(\frac{\sin x}{x}\right)^{2}-2\right)\right. \\
&\left.>0 \quad\left(\frac{\sin x}{x}\right)\left(\left(\frac{\sin x}{x}\right)^{2}-1\right)^{2}\right] \\
& \quad\left(0<x<\frac{\pi}{2}\right) .
\end{aligned}
$$

This means that $f(x)$ is strictly increasing on the open interval $\left(0, \frac{\pi}{2}\right)$. Consequently, we can deduce from the following observation:

$$
\lim _{x \rightarrow 0+} f(x)=2
$$

that

$$
f(x)>2 \quad\left(0<x<\frac{\pi}{2}\right)
$$

which leads us to the inequality (27) asserted by Lemma 4.

## 6 Demonstration of Theorem 4

In our proof of Theorem 4, we consider the following two cases.
Case I. Let

$$
\lambda>0, \mu>0, p \leqq \frac{2 q \mu}{\lambda} \quad \text { and } \quad q>0
$$

Then, by applying Lemma 2 and Lemma 3, we obtain

$$
\begin{aligned}
\frac{\lambda}{\mu+\lambda} & \left(\frac{\sin x}{x}\right)^{p}+\frac{\mu}{\mu+\lambda}\left(\frac{\tan x}{x}\right)^{q} \\
& \geqq\left(\frac{\sin x}{x}\right)^{p \lambda /(\mu+\lambda)}\left(\frac{\tan x}{x}\right)^{q \mu /(\mu+\lambda)} \\
& =\left(\frac{\sin x}{x}\right)^{p \lambda /(\mu+\lambda)}\left(\frac{\sin x}{x}\right)^{q \mu /(\mu+\lambda)}\left(\frac{1}{\cos x}\right)^{q \mu /(\mu+\lambda)} \\
& >\left(\frac{\sin x}{x}\right)^{p \lambda /(\mu+\lambda)}\left(\frac{\sin x}{x}\right)^{q \mu /(\mu+\lambda)}\left(\frac{\sin x}{x}\right)^{-3 q \mu /(\mu+\lambda)} \\
& =\left(\frac{\sin x}{x}\right)^{(p \lambda-2 q \mu) /(\mu+\lambda)} \\
& \geqq 1
\end{aligned} \quad\left(0<x<\frac{\pi}{2}\right), ~ l
$$

which is the desired inequality (24).
Case II. Let

$$
\lambda>0, \mu>0, p \leqq \frac{2 q \mu}{\lambda} \quad \text { and } \quad q \leqq \min \left\{-\frac{\lambda}{\mu},-1\right\}
$$

Then it follows from the hypothesis of Theorem 4 that

$$
\begin{align*}
& \frac{\lambda}{\mu+\lambda}\left(\frac{\sin x}{x}\right)^{p}+\frac{\mu}{\mu+\lambda}\left(\frac{\tan x}{x}\right)^{q} \\
& \quad \geqq \frac{\lambda}{\mu+\lambda}\left(\frac{\sin x}{x}\right)^{2 q \mu / \lambda}+\frac{\mu}{\mu+\lambda}\left(\frac{\tan x}{x}\right)^{q} \\
& =\frac{\lambda}{\mu+\lambda}\left(\frac{x}{\sin x}\right)^{-2 q \mu / \lambda}+\frac{\mu}{\mu+\lambda}\left(\frac{x}{\tan x}\right)^{-q}  \tag{28}\\
& \quad\left(-\frac{q \mu}{\lambda} \geqq 1 ;-q \geqq 1\right)
\end{align*}
$$

Moreover, we find from Lemma 4 that

$$
\left(\frac{x}{\sin x}\right)^{2}>2-\frac{x}{\tan x}>0 \quad\left(0<x<\frac{\pi}{2}\right) .
$$

By combining the inequality (28) with the above trigonometric inequality, we obtain

$$
\begin{align*}
& \frac{\lambda}{\mu+\lambda}\left(\frac{\sin x}{x}\right)^{p}+\frac{\mu}{\mu+\lambda}\left(\frac{\tan x}{x}\right)^{q} \\
& >\frac{\lambda}{\mu+\lambda}\left(2-\frac{x}{\tan x}\right)^{-q \mu / \lambda}+\frac{\mu}{\mu+\lambda}\left(\frac{x}{\tan x}\right)^{-q}  \tag{29}\\
& \quad\left(0<x<\frac{\pi}{2}\right)
\end{align*}
$$

We now define a function

$$
f:(0,1) \longrightarrow \mathbb{R}
$$

by

$$
f(x)=\frac{\lambda}{\mu+\lambda}(2-x)^{-q \mu / \lambda}+\frac{\mu}{\mu+\lambda} x^{-q},
$$

which, upon differentiating with respect to $x$, yields

$$
f^{\prime}(x)=\frac{q \mu}{\mu+\lambda}\left[(2-x)^{-(q \mu / \lambda)-1}-x^{-q-1}\right] .
$$

For

$$
-\frac{q \mu}{\lambda} \geqq 1,-q \geqq 1 \quad \text { and } \quad 0<x<1
$$

it is easy to verify that

$$
(2-x)^{-(q \mu / \lambda)-1} \geqq 1 \geqq x^{-q-1}
$$

We thus conclude that

$$
f^{\prime}(x) \leqq 0 \quad(0<x<1)
$$

which immediately implies that $f(x)$ is decreasing on the open interval $(0,1)$. Hence we have

$$
f(x) \geqq f(1)=1 \quad(0<x<1)
$$

Now, by making use of the inequality (29) together with the following well-known trigonometric inequality:

$$
0<\frac{x}{\tan x}<1 \quad\left(0<x<\frac{\pi}{2}\right)
$$

we deduce that

$$
\frac{\lambda}{\mu+\lambda}\left(\frac{\sin x}{x}\right)^{p}+\frac{\mu}{\mu+\lambda}\left(\frac{\tan x}{x}\right)^{q}>f\left(\frac{x}{\tan x}\right) \geqq 1
$$

which proves the inequality (24). This completes the proof of Theorem 4.
By setting $(p, q)=(2,1)$ and $(\lambda, \mu)=(2,1)$ in Theorem 4, we obtain a weighted generalization of Wilker's inequality (22) and an exponential generalization of Huygens's inequality (23), given by Corollary 4 and Corollary 5, respectively.
Corollary 4. Let
$0<x<\frac{\pi}{2} \quad$ and $\quad 0<\lambda \leqq \mu$. Then

$$
\begin{equation*}
\frac{\lambda}{\mu+\lambda}\left(\frac{\sin x}{x}\right)^{2}+\frac{\mu}{\mu+\lambda}\left(\frac{\tan x}{x}\right)>1 \tag{30}
\end{equation*}
$$

Corollary 5. Let $0<x<\frac{\pi}{2} \quad$ and $\quad p \leqq q$. Then, for $q>0 \quad$ or $\quad q \leqq-2$, the following inequality holds true:

$$
\begin{equation*}
2\left(\frac{\sin x}{x}\right)^{p}+\left(\frac{\tan x}{x}\right)^{q}>3 \tag{31}
\end{equation*}
$$

## Remark 5.

It is obvious that Wilker's inequality (22) would follow as a special case of the inequality (30) when $\lambda=\mu=1$. Furthermore, in its special case when $p=q=1$, the inequality (31) reduces to Huygens's inequality (23).

## 7 Applications and Consequences of Theorem 4

As an Open Problem, Sándor and Bencze [25] asked to prove that, for all

$$
x \in\left(0, \frac{\pi}{2}\right) \quad \text { and } \quad \alpha \in(0, \infty)
$$

the following trigonometric inequality holds true:

$$
\begin{equation*}
\left(\frac{\sin x}{x}\right)^{\alpha}>\frac{\cos ^{\alpha} x}{1+\cos ^{\alpha} x} \tag{32}
\end{equation*}
$$

The Sándor-Bencze conjectured inequality (32) provides a good opportunity to illustrate the application of the foregoing results. Based upon the improved Wilker inequality (24) asserted by Theorem 4, we give here a sharp and generalized version of the Sándor-Bencze conjectured inequality (24).
Theorem 5. Let
$0<x<\frac{\pi}{2}$. Then, for $\alpha>0$ or $\quad \alpha \leqq-1$, the following inequality holds true:

$$
\begin{equation*}
\left(\frac{\sin x}{x}\right)^{\alpha}>\frac{4 \cos ^{\alpha} x}{1+\sqrt{1+8 \cos ^{2 \alpha} x}} \tag{33}
\end{equation*}
$$

Proof. Putting $\lambda=\mu=1, p=2 \alpha$ and $q=\alpha$ in Theorem 4, we get $\left(\frac{\sin x}{x}\right)^{2 \alpha}+$ $\cos ^{-\alpha} x\left(\frac{\sin x}{x}\right)^{\alpha}-2>0\left(0<x<\frac{\pi}{2} ; \alpha>0 \quad\right.$ or $\left.\quad \alpha \leqq-1\right)$, which is equivalent to the following trigonometric inequality:

$$
\begin{aligned}
& {\left[\left(\frac{\sin x}{x}\right)^{\alpha}+\frac{\cos ^{-\alpha} x+\sqrt{\cos ^{-2 \alpha} x+8}}{2}\right]} \\
& \quad \cdot\left[\left(\frac{\sin x}{x}\right)^{\alpha}+\frac{\cos ^{-\alpha} x-\sqrt{\cos ^{-2 \alpha} x+8}}{2}\right]>0
\end{aligned}
$$

We can now deduce from the above inequality that

$$
\left(\frac{\sin x}{x}\right)^{\alpha}+\frac{\cos ^{-\alpha} x-\sqrt{\cos ^{-2 \alpha} x+8}}{2}>0
$$

this is, that

$$
\begin{equation*}
\left(\frac{\sin x}{x}\right)^{\alpha}>\frac{-\cos ^{-\alpha} x+\sqrt{\cos ^{-2 \alpha} x+8}}{2}=\frac{4 \cos ^{\alpha} x}{1+\sqrt{1+8 \cos ^{2 \alpha} x}} \tag{34}
\end{equation*}
$$

The proof of Theorem 5 is thus completed.
As a consequence of Theorem 5, we immediately obtain the following refinement of the Sándor-Bencze conjectured inequality (32):
Corollary 6. If

$$
0<x<\frac{\pi}{2} \quad \text { and } \quad \alpha>0, \text { then }
$$

$$
\begin{equation*}
\left(\frac{\sin x}{x}\right)^{\alpha}>\frac{4 \cos ^{\alpha} x}{1+\sqrt{1+8 \cos ^{2 \alpha} x}}>\frac{2 \cos ^{\alpha} x}{1+\cos ^{\alpha} x}>\frac{\cos ^{\alpha} x}{1+\cos ^{\alpha} x} \tag{35}
\end{equation*}
$$

In addition, upon replacing $\alpha$ by $-\alpha$ in Theorem 5, a reversed version of the Sándor-Bencze conjectured inequality (32) is derived as follows.
Corollary 7. If

$$
\begin{align*}
& 0<x<\frac{\pi}{2} \quad \text { and } \quad \alpha \geqq 1, \text { then } \\
&\left(\frac{\sin x}{x}\right)^{\alpha}<\frac{\cos ^{\alpha} x+\sqrt{\cos ^{2 \alpha} x+8}}{4} \tag{36}
\end{align*}
$$

## Remark 6.

Corollary 6 and Corollary 7 show that the inequality (12) is sharper and more general than the Sándor-Bencze conjectured inequality (32).

We conclude this presentation by remarking further that, by making use of the definitions and concepts of Time Scale Theory (see, for details, [26] and the many references to relevant earlier works cited therein), one can investigate the interesting possibility of extending some of the inequalities in this work to hold true on time scales. For various further developments, some of which are based also upon the results surveyed in this article, the interested reader may refer to many recent investigations including (for example), [2], [15], [16], [17], [18] and [36].

## Acknowledgements

I take this opportunity to express my sincere thanks and appreciation to the members of the Organizing and Scientific Committees of the International Conference on Mathematical Sciences (İzzet Baysal Üniversitesi Kampüsü, Gölköy, Bolu, Turkey; November 23-27, 2010) (especially to the Chief Organizer, Assoc. Prof. Dr. Cenap Özel) for their kind invitation and also for the excellent hospitality provided to both myself and my husband. The dedication of this International Conference on Mathematical Sciences to honour my husband, Professor H. M. Srivastava, on the occasion of his 70th birth anniversary is also greatly appreciated.

## References

[1] S. Abramovich, M. K. Bakula, M. Matić and J. E. Pečarić, A variant of JensenSteffensen's inequality and quasi-arithmetic means, J. Math. Anal. Appl. 307 (2005), 370-386.
[2] Á. Baricz and J. Sándor, Extensions of generalized Wilker inequality to Bessel functions, J. Math. Inequal. 2 (2008), 397-406.
[3] E. F. Beckenbach and R. Bellman, Inequalities, pp. 48-50, Springer-Verlag, Berlin, New York and Heidelberg, 1983.
[4] J. Bergh, A generalization of Steffensen's inequality, J. Math. Anal. Appl. 41 (1973), 187-191.
[5] H. Gauchman, On a further generalization of Steffensen's inequality, J. Inequal. Appl. 5 (2000), 505-513.
[6] B.-N. Guo, W. Li and F. Qi, Proofs of Wilker's inequalities involving trigonometric functions, in Inequality Theory and Applications, Vol. 2 (Chinju/Masan, 2001), pp. 109-112, Nova Science Publishers, Hauppauge, New York, 2003.
[7] B.-N. Guo, W. Li, B.-M. Qiao and F. Qi, On new proofs of inequalities involving trigonometric functions, RGMIA Res. Rep. Coll. 3 (1) (2000), Article 15 [Available online at URL: http://rgmia.vu.edu.au/v3n1.html].
[8] B.-N. Guo, B.-M. Qiao, F. Qi and W. Li, On new proofs of Wilker's inequalities involving trigonometric functions, Math. Inequal. Appl. 6 (2003), 19-22.
[9] G. H. Hardy, J. E. Littlewood and G. Pólya, Inequalities, Second edition, Cambridge University Press, Cambridge, 1952.
[10] C. Huygens, Oeuvres Completes, Vols. 1-20, Publiées par la Société Hollandaise des Science, Haga, 1888-1940.
[11] P. R. Mercer, Extensions of Steffensen's inequality, J. Math. Anal. Appl. 246 (2000), 325-329.
[12] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, Classical and New Inequalities in Analysis, pp. 311-331, Kluwer Academic Publishers, Dordrecht, Boston and London.
[13] D. S. Mitrinović and J. E. Pečarić, On the Bellman generalization of Steffensen's inequality. III, J. Math. Anal. Appl. 135 (1988), 342-345.
[14] D. S. Mitrinović and P. M. Vasić, Analytic Inequalities, pp. 107-118, Springer-Verlag, Berlin, New York and Heidelberg, 1970.
[15] C. Mortici, The natural approach of Wilker-Cusa-Huygens inequalities, Math. Inequal. Appl. (in press).
[16] E.Neuman, One- and two-sided inequalities for Jacobian elliptic functions and related results, Integral Transforms Spec. Funct. 21 (2010), 399-407.
[17] E. Neuman, On Wilker and Huygens type inequalities, Math. Inequal. Appl. (in press).
[18] E. Neuman and J. Sándor, On some inequalities involving trigonometric and hyperbolic functions with emphasis on the Cusa-Huygens, Wilker, and Huygens inequalities, Math. Inequal. Appl. 13 (2010), 715-723.
[19] J. E. Pečarić, On the Bellman generalization of Steffensen's inequality. II, J. Math. Anal. Appl. 104 (1984), 432-434.
[20] J. E. Pečarić, On the Bellman generalization of Steffensen's inequality, J. Math. Anal. Appl. 88 (1982), 505-507.
[21] I. Pinelis, l'Hôpital rules for monotonicity and the Wilker-Anglesio inequality, Amer. Math. Monthly 111 (2004), 905-909.
[22] F. Qi, Jordan's inequality: Refinements, generalizations, applications and related problems, RGMIA Res. Rep. Coll. 9 (3) (2006), Article 12 [Available online at URL: http://rgmia.vu.edu. au/v9n3.html].
[23] F. Qi and B.-N. Guo, On Steffensen pairs, J. Math. Anal. Appl. 271 (2002), 534-541.
[24] Th. M. Rassias and H. M. Srivastava (Editors), Analytic and Geometric Inequalities and Applications, Series on Mathematics and Its Applications, Vol. 478, Kluwer Academic Publishers, Dordrecht, Boston and London, 1999.
[25] J. Sándor and M. Bencze, On Huygens's trigonometric inequality, RGMIA Res. Rep. Coll. 8 (3) (2005), Article 14 [Available online at URL: http://rgmia.vu.edu.au/v8n3.html].
[26] H. M. Srivastava, K.-L. Tseng, S.-J. Tseng and J.-C. Lo, Some weighted Opial-type inequalities on time scales, Taiwanese J. Math. 14 (2010), 107-122.
[27] J. F. Steffensen, On certain inequalities and methods of approximation, J. Inst. Actuaries 51 (1919), 274-297.
[28] J. S. Sumner, A. A. Jagers, M. Vowe and J. Anglesio, Inequalities involving trigonometric functions, Amer. Math. Monthly 98 (1991), 264-267.
[29] J. B. Wilker, Problem E3306, Amer. Math. Monthly 96 (1989), 55.
[30] S.-H. Wu and H. M. Srivastava, Some improvements and generalizations of Steffenson's integral inequality, Appl. Math. Comput. 192 (2007), 422-428.
[31] S.-H. Wu and H. M. Srivastava, A weighted and exponential generalization of Wilker's inequality and its applications, Integral Transforms Spec. Funct. 18 (2007), 529-535.
[32] S.-H. Wu and H. M. Srivastava, A further refinement of Wilker's inequality, Integral Transforms Spec. Funct. 19 (2008), 757-765.
[33] S.-H. Wu and H. M. Srivastava, A further refinement of a Jordan type inequality and its application, Appl. Math. Comput. 197 (2008), 914-923.
[34] S.-H. Wu, H. M. Srivastava and L. Debnath, Some refined families of Jordan-type inequalities and their applications, Integral Transforms Spec. Funct. 19 (2008), 183193.
[35] L. Zhu, A new simple proof of Wilker's inequality, Math. Inequal. Appl. 8 (2005), 749-750.
[36] L. Zhu, On Wilker-type inequalities, Math. Inequal. Appl. 10 (2007), 727-731.

For the author's biographical and other professional details (including her photograph), the interested reader should look into the following Web Site: http://www.math.uvic.ca/other/rekhas/

